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BT T2 MRl T8 T =% BT % Mg T8 T =%

BX 69,056 147,663 72,003 75,660 |[f2CHIS T 295 656 313 343
2 thT6T 173 359 160 199

EEFWLET 296 653 327 326 H 1,467 3,121 1,485 1,636
EEFILET2T 366 818 372 446 |FXEET1T 817 1,601 700 901
EEFILBIST 491 1,134 520 614 | EBT2T 339 734 359 375
B 1,153 2,605 1,219 1,386 |F SHET3T 227 530 258 272

B4y EALET1T 193 316 208 108 (K EET4T 13 35 16 19
B4 EALET2T 169 333 150 183 (K EBEI5T 1 3 1 2
B4 EALBT3T 113 247 123 124 H 1,397 2,903 1,334 1,569
B4 EALBT4T 127 329 149 180 |FR 2 BTTH1T 74 167 80 87
B 602 1,225 630 595 (T2 BT #E2T 63 105 38 67

By BT 221 417 188 229 H 137 272 118 154
By EEHRET2T 175 355 170 185 |72 BTEHR1T 102 165 83 82
By EEHRET3T 140 338 176 162 |72 BTER2T 168 239 119 120
By EEHRET4T 57 110 62 48 (K2 BTER3T 93 169 78 91
B 593 1,220 596 624 |FK2BTER4T 47 121 55 66

By EFRT1T 120 229 113 116 |k ZBTER5T 123 286 136 150
B4 EFgRT2T 79 163 82 81 B 533 980 471 509
B4 EEFGRT3T 137 279 130 149 (ZHET1T 31 35 13 22
By EFIRTAT 96 243 116 127 |Z¥ABT2T 31 62 31 31
g 432 914 441 473 |EHET3T 2 7 2 5

JB& 144 332 173 159 B 64 104 46 58
W BTEE1T 39 87 36 51 | KET#E1T 55 130 66 64
W BTEE2T 26 56 32 24 | KET#E2T 58 115 58 57
W2 BTEE3T 23 51 26 25 | KET#E3T 193 455 213 242
g 88 194 94 100 B 306 700 337 363

BZBIRIT 124 275 138 137 | KET®R1T 26 56 26 30
EZBIER2T 25 58 20 38 | KETE2T 57 122 63 59
g 149 333 158 175 | KETER3T 85 166 81 85

AR 44 96 53 43 | KETEA4T 105 160 88 72
BET 369 798 413 385 B 273 504 258 246
BERT2T 173 386 166 220 | KGEALET1IT 241 556 268 288
BIERTIT 511 1,215 615 600 | X;EJLET2T 840 1,781 839 942
RIZETAT 117 290 147 143 | K;EJLET3T 509 911 454 457
g 1,170 2,689 1,341 1,348 B 1,590 3,248 1,561 1,687

—%&& 408 766 354 412 | KGERETTT 150 400 187 213
BT 22 27 20 7 | KiEFRET2T 235 479 230 249
2 ET#E2T 186 409 197 212 | K;EGRET3T 319 740 361 379
T2 ET#E3T 48 96 32 64 B 704 1,619 778 841
g 256 532 249 283 | K;EFRET 2 5 3 2

HZETERIT 35 51 28 23 |KEFETIT 232 430 257 173
HZETER2T 49 106 49 57 | K;ErlT2T 228 397 220 177
HZETER3T 97 204 99 105 | KEFET3T 551 868 423 445
HZETER4T 70 133 7 62 B 1,011 1,695 900 795
HZETER5T 107 182 83 99 [$54ERT1T 238 383 193 190
HZETER6T 45 113 49 64 |$51EET2T 154 306 130 176
g 403 789 379 410 B 392 689 323 366

StET1T 294 654 310 344 sZEB/NEET1T 61 129 69 60
SitEr2 T 288 655 323 332 {ZE/NEET2T 27 53 26 27
SithET3T 279 403 208 195 [{=E/NEFRTIT 12 19 11 8
SithET4T 376 754 331 423 =B /NEETAT 25 56 31 25
SithEI5 T 59 162 78 84 g 125 257 137 120
SithET6 T 417 998 491 507 |;BILET1T 422 1,084 554 530
B 1,713 3,626 1,741 1,885 [BILET2T 379 1,024 505 519

KAETTT 95 151 73 78 |;@ILAT3T 121 195 91 104
KARHET2T 125 211 92 119 [{EILET4T 344 897 436 461
KARHETAT 85 248 127 121 [{BILETST 98 199 98 101
KARHETST 72 169 85 84 g 1,364 3,399 1,684 1,715
KARHETET 97 186 89 97 |FHEERTEETT 149 265 120 145
B 474 965 466 499 (EREERTFG2T 97 218 101 117

BT 283 572 267 305 |EREERTAR3T 233 381 196 185
Exhr2T 146 267 132 135 g 479 864 417 447
A3 T 218 480 234 246 |FHERTER1T 29 57 28 29
Exhr4T 352 787 379 408 |FFEERTER2T 230 522 240 282
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BT TRIAO-HEHHE R TERE18407 B XRIRTE
AL e R e
FHERRIT 166 303 149 154 [dLALERE 102 202 95 107
EREEMTERAT 163 288 148 140 |Gt =E~s EBT 129 298 131 167
EREEMTERS T 68 128 67 61 [dt=E4 EET2T 27 63 27 36
EREEMTER6 T 268 315 203 112 |Gt =E~ ERI3T 109 252 106 146

B 924 1,613 835 778 |At=E~ EBT4T 74 188 84 104
E5yERT 702 1,328 642 686 |dt=FE~ EBT5T 52 118 48 70
E4ER2T 37 890 424 466 (At =E~ EHBT6T 191 422 202 220
E45ER3T 374 777 369 408 (At =E~ EBTTT 119 299 134 165
E45ER4AT 501 1,002 501 501 ([dt=E~ EBT8T 325 664 314 350
E45ERST 301 703 345 358 st| 1,026 2,304 1,046 1,258

g 2,249 4,700 2,281 2,419 |dt 2 FHT 75 117 59 58
HMARETTT 146 376 171 205 |FRHETE 149 293 140 153
HARET2T 583 1,545 767 778 |HBANET1T 259 498 228 270
PN 130 295 152 143 ({HF0ET2T 168 451 205 246
HARETAT 175 351 197 154 ({HF0ET3T 212 511 261 250

g 1,034 2,567 1,287 1,280 |13 FNETAT 331 700 317 383
E=HE1T 19 41 22 19 ({3F0ETST 506 1,109 499 610
H0@E2T 26 55 23 32 B 1,476 3,269 1,510 1,759
EHE3ST 36 92 41 51 |SR#ERT1T 305 682 358 324
EHE4T 51 88 38 50 |ERAEET2T 26 64 30 34

g 132 276 124 152 (SR4EMT3T 218 488 234 254
ErERT 49 112 55 57 B 549 1,234 622 612
ErER2T 56 147 68 79 |ATERTERTT 34 86 36 50
ErER3T 99 230 106 124 (ALREETHE2T 122 288 143 145
ErER4T 38 96 52 44 B 156 374 179 195

g 242 585 281 304 | ALFERTER1T 51 129 63 66
AT 2 H 610 1,454 701 753 |ALFEIBTER2T 78 194 94 100
HEART T 95 187 97 90 |MLFEBTER3T 23 64 31 33
HEART2T 445 1,129 538 591 B 152 387 188 199
HEART3T 1 1 1 0 |#ERTER1IT 26 59 27 32
HEART4AT 8 15 11 4 |HERTER2T 106 146 81 65

B 549 1,332 647 685 |HEIRATER3T 23 39 17 22
ItEET 108 200 92 108 |HEi BRI 4T 66 132 65 67
dEET2T 50 96 44 52 g 221 376 190 186

g 158 296 136 160 f@ET1T 135 318 167 151
L RIEET1T 100 263 116 147 |#EET2T 89 151 80 71
trREET2T 31 61 26 35 fET3T 169 397 200 197

g 131 324 142 182 (t@ET4T 143 354 175 179
t;EKET1T 205 365 187 178 g 536 1,220 622 598
Jt;EKET2T 67 150 67 83 |REFFHTFE1T 79 198 88 110
Jt;EKET3T 103 212 108 104 |REEFETFR2T 98 249 111 138

g 375 727 362 365 |AEEFATFE3T 10 17 6 11
JLERT1T 492 1,120 562 558 g 187 464 205 259
JLERT2T 74 140 66 74 |REFFETERIT 34 84 36 48
JLERTST 82 170 90 80 |FEFFHTER2T 62 100 53 47

g 648 1,430 718 712 |REEFRTERIT 104 186 97 89
StEEHET 117 263 136 127 |REEFRTERAT 120 252 121 131
dtEEHET2T 91 226 115 111 |REEFETERST 10 28 18 10
dtEEHEST 216 499 258 241 g 330 650 325 325

B 424 988 509 479 |EH 2BTFE1T 74 172 79 93
LHREERTFE1T 64 146 Al 75 |EHZBTEE2T 64 119 56 63
LHREERT 2T 50 118 60 58 |E 2HTFE3T 31 50 27 23
L HREERTFE3T 149 293 143 150 E 169 341 162 179

B 263 557 274 283 |EHZHBTER1T 50 110 50 60
JLREEETER1T 85 204 103 101 ([EEZHETER2T 42 91 41 50
JLREERTER2T 15 34 17 17 [EEZHETER3T 19 47 20 27

B 100 238 120 118 g 111 248 111 137
Jt iR BT 149 289 169 120 |RIPEHET1T 292 595 307 288
dtfEAOBTT 63 117 56 61 |MfERET2T 176 382 165 217
dtfiEAO/T2T 108 258 119 139 |RIPEFETST 187 456 227 229
JtfEAO/T3T 10 21 9 12 |RIBEFET4AT 301 518 232 286

B 181 396 184 212 |MfESRETST 253 635 307 328
L 3-HT 56 112 55 57 |MIfESRET6T 361 699 360 339
JLFETER 29 75 36 39 5 1,570 3,285 1,598 1,687
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B T & | #HH *%“ - B T % BH g *%“ —=
BIETE R 383 973 476 497 |BERTER1T 84 188 90 98
RIfEFRET2T 284 636 316 320 |TERRTER2T 93 204 91 113
RIEFRET3T 126 281 140 141 (EEHETR3T 94 237 106 131
RIfEFET4AT 445 849 419 430 5 271 629 287 342

g 1,238 2,739 1,351 1,388 [ #RFRTFE1T 47 73 36 37

RFEERETIT 226 408 216 192 (D FRFRTFE2T 83 176 86 90
mFEERET2T 401 904 449 455 |">MRFETEEST 94 234 107 127
RFERETIT 502 1,232 576 656 |/ MAFETFEAT 70 175 86 89
B 1,129 2,544 1,241 1,303 H 294 658 315 343

E- 3] 281 633 289 344 | "V MRFETERIT 76 119 65 54
1ENRE & 106 219 109 110 (D RFRTE2T 57 132 65 67
MAETFEIT 112 175 106 69 |/DMRFETERIT 52 85 50 35
MAETFE2T 164 272 143 129 [DFRFRTEAT 34 45 20 25
MAETFEIT 59 167 95 72 H 219 381 200 181
B 335 614 344 270 |RBFIE1T 52 109 52 57

MARETEIT 81 230 114 116 (FEF0&E2T 46 82 40 42
MARETER2T 52 108 48 60 |BEFNEST 33 65 31 34
MAHBTERIT 64 157 76 81 |FBFE4T 37 94 46 48
MARETERAT 112 249 119 130 |FBFNES T 7 16 8 8
g 309 744 357 387 |RBFNE6T 13 32 16 16

£ 202 442 205 237 B 188 398 193 205
FKIEET1T 204 294 151 143 [FERETFETT 79 210 104 106
FKIGET2T 184 364 170 194 [FTERETFE2T 65 157 75 82
388 658 321 337 |FERBTEE3T 172 367 175 192

PRZBTEIT 83 196 91 105 [FT7ERET AT 84 176 80 96
P BTEE2T 70 188 87 101 B 400 910 434 476
PRZBTFE3T 120 264 130 134 (FIERBETEHIT 12 37 20 17
B 273 648 308 340 |FTERBIE2T 78 137 81 56

PZBIERIT 86 199 107 92 |FITERBIERIT 75 156 77 79
P BTER2T 22 40 18 22 |FTERBIRAT 103 212 98 114
g 108 239 125 114 B 268 542 276 266

HHAR 279 546 283 263 |#H{ERE 169 398 192 206
=%& 302 571 263 308 |FrHT 133 202 104 98
=ZFEMT 152 344 166 178 |thBAETEAR1T 30 72 33 39
==FHWr2T 444 1,008 483 525 |[tHBAETEE2T 9 17 7 10
==H3T 282 508 295 213 |#HBARTFE3 T 29 60 33 27
==H4T 286 526 290 236 B 68 149 73 76
==H5T 311 716 374 342 |tHBAETER1T 88 192 87 105
==HT6T 317 644 371 273 |tHBAETER2T 57 151 73 78
=FH9T 2 4 3 1 |#HBABTER3T 38 107 48 59
g 1,794 3,750 1,982 1,768 B 183 450 208 242

Bt 260 613 288 325 |EREIT 36 85 35 50
] 173 403 188 215 | ERE2T 25 40 18 22
B FHET 706 1,617 777 840 | ERE3ST 34 78 36 42
B AT 390 949 469 480 | ERBE4T 30 62 32 30
REMRET 224 428 209 219 | EREST 11 29 13 16
HETmET2T 298 676 337 339 B 136 294 134 160
REMBIST 302 658 299 359 |RbERTIT 323 768 390 378
REMET4T 218 440 206 234 |RbIERT2T 82 217 102 115
B 1,042 2,202 1,051 1,151 |#&ERT3T 113 211 115 96

EiERTE1T 5 14 9 5 B 518 1,196 607 589
BEiRRTFE2T 39 49 23 26 [{FEEETIT 479 854 387 467
EiRRTFE3 T 266 471 237 234 |1F5EET2T 51 137 64 73
BEiRRTFE4T 50 87 45 42 B 530 991 451 540
B 360 621 314 307 | KALET 50 141 70 71

EERTER1T 26 67 29 38 | KAl AT 559 1,305 630 675
BRI 2T 21 40 23 17 [RALTFERT1T 399 724 336 388
BERRETER3T 215 424 211 213 | KALFERT2T 17 24 13 11
BRI AT 75 170 78 92 | KALFERT3T 3 6 3 3
B 337 701 341 360 | KALFERTAT 5 13 6 7

BERETEIT 35 96 48 48 | KNLFERTS T 56 101 52 49
BERETE2T 22 55 24 31 | KALFERT6 T 31 40 16 24
ERETEIT 102 281 153 128 B 511 908 426 482
B 159 432 225 207 |SRbET1T 81 146 71 75
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BT & | em Ty T = | W1 % | amT 8 T =
SWE2T 54 122 48 74 | FAHT 74 151 72 79
SHET3T 69 164 74 90 |FEREET1T 65 158 75 83
SHET4T 7 21 11 10 |FAfEET2T 24 49 23 26

B 211 453 204 249 |FIRERTST 56 157 68 89
SZEET2T 32 49 29 20 |FERRETAT 56 139 65 74
SZEET3T 118 247 134 113 H 201 503 231 272

B 150 296 163 133 (BRET1T 53 107 46 61
3T 1,493 3,234 1,657 1,577 |BRET2T 116 209 102 107
HEEFETT 302 591 273 318 |BRET3T 177 394 175 219
HEEFE2T 161 394 192 202 |BRET4T 292 598 272 326
HEEFEST 175 439 204 235 H 638 1,308 595 713
HEEFEAT 219 392 218 174 ($8 2 BTF1T 95 227 102 125

B 857 1,816 887 929 |#RZBTFE2T 44 114 59 55
HERT 220 485 226 259 |$RZBTFE3T 91 241 118 123
HEET2T 669 1,524 720 804 5 230 582 279 303
HERT3T 291 629 309 320 |88 2BTER1T 66 154 83 71
HEBT4T 184 433 204 229 |88 2BTER2T 54 122 56 66
HEET5T 179 424 214 210 B 120 276 139 137

g 1,543 3,495 1,673 1,822 (A ILE 116 253 130 123
H & TG HET 6 14 6 8 |FEEmET1T 208 405 201 204
HER& 102 222 115 107 (FaZEmT2T 133 263 118 145
S FRET 94 200 88 112 (FaZEm/T3T 156 324 159 165
FHETFE1T 47 72 45 27 |FGERT4T 214 474 239 235
FHhETFE2T 114 241 111 130 (FaZEm/T5T 285 589 278 311
FHBTFE3ST 174 318 163 155 |FaZEmT6 T 116 252 130 122

g 335 631 319 312 B 1,112 2,307 1,125 1,182
FHETERIT 35 71 32 39 |=%&3& 225 486 207 279
FHETER2T 88 136 75 61 |REFZHT 366 766 368 398
FHETERIT 110 185 97 88 [E sk ILE 37 86 45 41
FHETERAT 96 165 85 80 |HERT1T 94 178 89 89

g 329 557 289 268 |HERT2T 148 337 162 175
hEEMT 47 100 53 47 |BRERT3T 174 378 178 200
hEET2T 21 43 19 24 |RREETAT 99 207 109 98

g 68 143 72 71 |ERERTST 174 340 185 155
FEFEET1T 227 422 219 203 | ERT6T 64 117 58 59
R EFEET2T 38 92 41 51 &t 753 1,557 781 776

g 265 514 260 254 |¥AEBET1T 137 320 162 158
P EEHFETTT 96 228 105 123 (fREBHET2T 255 594 305 289
R FET2T 121 296 133 163 &t 392 914 467 447
R FETST 174 427 203 224 (AR RFIEIT 132 314 167 147

B 391 951 441 510 [#aEXFJIE2T 170 370 187 183
Frk LUE 66 141 61 80 [#xEXF0)I@3T 18 19 18 1
Rz BTEE1T 98 148 86 62 i 320 703 372 331
2 BTFE2T 47 102 50 52 |ZE~y EHFER 31 57 31 26
2 BTFE3T 295 501 256 245 |#&~ EILET1T 44 99 50 49
2 BTFE4T 92 177 78 99 |#x~ EILET2T 172 318 150 168

B 532 928 470 458 |#&~ EILET3T 192 288 193 95
hZETER1T 50 86 43 43 |#x~ EdLET4T 150 366 164 202
hZBTER2T 120 177 101 76 B 558 1,071 557 514
hZBTER3T 81 163 76 87 |k EhET1T 91 213 99 114
hZ2BTERAT 94 195 94 101 |#&~ ERET2T 146 313 141 172

&t 345 621 314 307 |#&~s EHET3T 151 345 150 195
h=E~sEBT 93 257 104 153 |#&~ EEhEBT4T 106 242 111 131
h=E4~sER/2T 48 120 58 62 B 494 1,113 501 612
h=E4s R8T 61 146 67 79 |#&~ EFART1T 78 170 83 87
h=E4s ERT4T 126 313 146 167 |#k~ EFIRT2T 22 49 23 26
h=E4s ER5T 108 280 122 158 |#&~ EFIRT3T 40 90 50 40
h=E~sEHlT6T 197 510 236 274 |%ko EFERTAT 75 178 77 101
h=E4sER/7TT 123 300 141 159 B 215 487 233 254

&t 756 1,926 874 1,052 |$KET1T 135 300 148 152
FEHET 374 515 266 249 |#XHET2T 241 509 271 238
hRHE2T 140 266 131 135 [#kET3T 5 9 6 3
FEHEIT 93 184 88 96 |#XET4AT 1 1 1 0

B 607 965 485 480 B 382 819 426 393
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BT TRIAO-HEHHE R TERE18407 B XRIRTE
B T & | #HH *%“ - B T % BH g *%“ —%
T FLET 16 27 16 11 |[flzEdE2T 95 226 117 109
FEREET1T 214 509 243 266 |HIZBTFE3T 117 302 138 164
FEREET2T 18 29 16 13 274 636 308 328

B 232 538 259 279 |Ml2BTER1T 150 362 173 189
HEETT 83 177 96 81 |l zBTE2T 78 205 93 112
HEET2T 171 410 198 212 228 567 266 301
HEET3T 114 176 114 62 [/\IE&E1T 18 35 21 14
HEET4AT 31 73 34 39 |/\iE@E2T 15 35 15 20
HEETST 79 167 77 90 |/\Ii&EE3T 27 67 32 35
B 478 1,003 519 484 60 137 68 69
MEKETT Al 216 102 114 |\UARET1T 150 420 205 215
ME/KET2T 29 61 29 32 [LUARBT2T 234 626 308 318
MAEKET3T 197 466 246 220 |LLUAHETST 350 901 429 472
B 297 743 377 366 734 1,947 942 1,005
FAFERTT 149 313 157 156 |EMHIEHT1T 64 103 52 51
FAERT2T 179 349 153 196 [EHIEHT2T 197 272 167 105
B 328 662 310 352 261 375 219 156
MHEHEHET 103 229 115 114 |BEFEE 110 190 96 94
MHEEFET2T 79 175 87 88 |/R&&E 184 370 170 200
MHEEHET 80 198 90 108
PHEEHET4T 126 318 155 163
B 388 920 447 473
FRERTEIT 118 221 116 105
FiRERTFE2T 92 221 97 124
FRERTFEST 173 389 188 201
FRERTFEIT 102 218 101 117
B 485 1,049 502 547
FRERTERIT 151 220 123 97
FRERTR2T 124 257 125 132
FRERTRIT 16 41 15 26
FRERTRIT 135 270 125 145
B 426 788 388 400
MAEEORT 78 128 69 59
MAEEOR2T 45 69 32 37
B 123 197 101 96
AT 98 160 83 77
FEFETFE2T 50 114 55 59
FAFETFEST 127 291 145 146
FFETFE4T 28 65 27 38
B 303 630 310 320
FHETRIT 56 116 55 61
FHETR2T 28 56 27 29
Hi 84 172 82 90
AR E 85 202 99 103
HA=E~sEBMT 120 279 128 151
HM=E~ER2T 75 158 78 80
H=E~sER3T 153 381 175 206
H=E~sER4T 169 421 201 220
H=E~ER5T 190 467 215 252
H=E~sER6T 285 596 281 315
&t 992 2,302 1,078 1,224
BERHFEIT 36 83 34 49
FERFET2T 89 254 132 122
FERHFETIT 57 120 55 65
FERFETAT 13 33 17 16
FERHFETST 68 143 76 67
FERFET6T 39 85 39 46
&t 302 718 353 365
BEEYET 418 788 414 374
BEEYEN2T 264 514 241 273
&t 682 1,302 655 647
XYEIEE 188 439 225 214
INTFRE 178 397 186 211
HZBFEIT 62 108 53 55
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